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int[] array = null;

int maxSpan;

array = new int[]{1, 2, 1, 1, 3},
maxSpan = MaxSpan.maxSpan (array) ;
if (maxSpan !'= 4) {
System.out.println(Arrays.toString(array) + " expected: 4, result: "+ maxSpan);
} else {
System.out.println(Arrays.toString(array) + " correct!");

}
array = new int[]{1, 4, 2, 1, 1, 4, 1, 4};

maxSpan = MaxSpan.maxSpan (array) ;
if (maxSpan !'= 7) {

System.out.println(Arrays.toString(array) + " expected: 7, result: " + maxSpan);
} else {

System.out.println(Arrays.toString(array) + " correct!");
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?Arrays NX 1'on N7

import java.util.Arrays; =

?MaxSpan nx 1'on X7

import 1l.ac.tau.cs.swl.maxspan.MaxSpan; ®=
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public static int maxSpan(int[] array) ({
int max = 0;
for (int i = 0; i < array.length; i++) {
int j = array.length - 1;
for ( ; 3 >=1; 3--) |
if (array[i] == array[j]) {

break;

}

int span = j - i + 1;

if (max < span) ({

max = span;

}

return max;
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public static int maxSpan(int[] nums) {
int max = 0;
for (int value: values(nums)) {
max = Math.max(max, span(value, nums)) ;

}

return max;
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private static int span(int value, int[] nums) {

return lastIndexOf(value, nums) - firstIndexOf(value, nums) + 1;

private static int[] wvalues(int[] nums) {
int[] values = new int[nums.length];

int nextIndex = 0;

for (int i = 0; i < nums.length; i++) {

if ('contains(values, nextIndex, nums[i])) {

add(values, nextIndex++, nums[i]) ;

return Arrays.copyOf(values, nextIndex) ; 12
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private static int lastIndexOf (int wvalue, int[] nums) {
for (int i = nums.length - 1; i >=0; i--) {
if (nums[i] == wvalue) {

return 1i;

}

// should never get here

return -1;

}

private static int firstIndexOf (int wvalue, int[] nums) {
int index = -1;
for (int 1 = 0; i1 < nums.length; i++) {
if (nums[i] == value) {
index = i;

break;

}

return index; 13
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private static void add(int[] wvalues, int position, int value) {

values[position] = value;

private static boolean contains (int[] temp, int tempLength, int value) {
for (int 1 = 0; i < tempLength; i++) ({
if (temp[i] == wvalue) {

return true;

}

return false;
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D'IN 7Y Q¥ X'N NTNNN
Java 1 nrinnn ax'n String o19'un

NIN1I NI'R X'N NTNNN NXNDY yaan Java-a
(Immutable) w7

NINYN7? D210 21D NTINNN7 050N

String s = Tea ";

S

s = s.trim(); 1/// 5 3
s = s.replace('T', 'S"); l

" Tea "

"Tea"

"Sea”

15



String Constructors

Use implicit constructor:
String s = "Hello";

Instead of:

String s

new String("Hello");

16
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yx17 maw ni71vo nnwy nTan String np'7nnn
nrnnn v
charAt
endsWith
boolean equals(..)
iIndexOf
length
split
startsWith
substring
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NTNNNN NX MIYN X7 NTNNN 72V Y7 ALSAIT,

String testString = "agjSDRoir";
String validChars = "atgc";
testString = testString.tolowerCase() ;

for (int 1 = 0; i < testString.length(); i++)
{
char ¢ = testString.charAt (i)
if (validChars.indexOf (c) == -1) {
System.out.printf ("Bad character[" + ¢ +
"] at position " + 1i);

18



StringBuilder np7nnn

(mutable) "11w? nina nirtNnn ax'm

AIX'7 720 NN NTINNNA 12'Y YXA7 TWONRN
D'YTN D'VP"AIN

insert -1 append :pralwn o'MN'Y

StringBuilder sb = new StringBuilder ("123");
sb.append (4) ;

sb

/

" 1234°
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StringBuilder vs. String

Inefficient version using String

public static String duplicate(String s, int times) ({
String result = s;
for (int 1 = 1; i < times; i++) {
result = result + s;

} o
return result;

}

Anew String
object is created

each time
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StringBuilder vs. String (cont.)

More efficient version with StringBuilder:

public static String duplicate(String s, int times) {
StringBuilder result = new StringBuilder (s) ;
for (int 1 = 1; i < times; i++) {
result.append(s) ;
} O

return result.toString() ; O
} no new
Objects

21



StringBuilder vs. String (cont.)

Even more efficient version:

public static String duplicate(String s, int times) {
StringBuilder result =
new StringBuilder(s.length()(; times) ;
for (int 1 = 0; i < times; i++) {
result.append(s) ;

} &

return result.toString() ;

created with
the correct
capacity
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